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4.2

package strategy;

import java.util.*;

/**

* Relative strength Index(Stochastics Strategy)
*

* author Yuka Yagyu(Chuo University)

*/

public class TestStrategy extends Strategy {

private Random random;
private final int widthOfPrice=60;
private final int maxQuant=50;
private final int minQuant=10;
private final int maxPosition=300;
private final int nominalPrice=3000;
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public TestStrategy(int seed) {
random = new Random(seed);

public Order getOrder(int[] spotPrices, int[] futurePrices, int pos,
long money, int restDay){

Order order = new Order();
int prevPrice = getLatestPrice( futurePrices);
if ( prevPrice ==-1)
prevPrice = getLatestPrice( spotPrices );

if ( prevPrice ==-1)

prevPrice = nominalPrice;
int latestSpotPrice = spotPrices[119];
int latestFuturePrice = futurePrices[59];

if ((latestSpotPrice <= 0) | | (latestFuturePrice < 0)) {
order.buysell = Order.NONE;
return order;

double k = getK(spotPrices,0);

double d = getD(spotPrices);

double prevK = getK(spotPrices,1);
double prevD = getPrevD(spotPrices);

if( (prevK < prevD) && (k> d)){
order.buysell = Order.BUY,

if( (prevK > prevD) && (k < d) ) {
order.buysell = Order.SELL,;

if(order.buysell == Order.BUY) {

23



if( pos > maxPosition ) {
order.buysell = Order.NONE;
return order;

}
} else if (order.buysell == Order.SELL ) {

if(pos < - maxPosition) {
order.buysell = Order.NONE;
return order;

while (true) {
order.price = prevPrice + (int)(widthOfPrice *
random.nextGaussian() );
if (order.price > 0) break;

order.quant = minQuant + random.nextlnt (maxQuant - minQuant + 1);
return order;

I
public int getHighestPrice(int[]] theArray, int theStartindex, int
theEndIndex) {
int highestPrice = 0;
for(int i = theStartindex; i <= theEndIndex; i++) {
if (highestPrice < theArray[i]) {
highestPrice = theArray[i] ;

return highestPrice;

I
public int getLowestPrice(int[] theArray, int theStartindex, int
theEndIndex) {
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int lowestPrice = Integer. MAX_VALUE;
for(int i = theStartindex; i <= theEndIndex; i++) {
if (lowestPrice > theArray][i]) {
lowestPrice = theArrayl[i] ;

return lowestPrice;

1K
public double getK(int[] spotPrices, int t) {
int highestPrice = getHighestPrice(spotPrices, 46 - t, 59 - t);
int lowestPrice = getLowestPrice(spotPrices, 46 - t, 59 - t);

double k = (double)(spotPrices[59 - t] - lowestPrice) / (double)(highestPrice -
lowestPrice);

return k;
}
IID
public double getD(int[] spotPrices) {
double kO = getK(spotPrices,0);
double k1 = getK(spotPrices,1);
double k2 = getK(spotPrices,?2);
double d = (kO + k1 + k2) / 3;
return d;
}
llprevD

public double getPrevD(int[] spotPrices) {
double k1 = getK(spotPrices,1);
double k2 = getK(spotPrices,?2);
double k3 = getK(spotPrices,3);
double prevD = (k1 + k2 + k3) / 3;
return prevD;
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public class TestStrategy extends Strategy {
private Random random;
private final int widthOfPrice=60;
private final int maxQuant=50;
private final int minQuant=10;
private final int maxPosition=300;
private final int nominalPrice=3000;

public Order getOrder(int[] spotPrices, int[] futurePrices, int pos,
long money, int restDay){

int latestSpotPrice = spotPrices[119];
int latestFuturePrice = futurePrices[59];

Spot Price[0]~ Spot Price[119]
FuturePrice[0]~FuturePrice[59]
spotPrices[119] futurePrices[59]
if ((latestSpotPrice <= 0) || (latestFuturePrice < 0)) {

order.buysell = Order.NONE;
return order;
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latestSpotPrice <= 0

double k = getK(spotPrices,0);
double d = getD(spotPrices);
double prevK = getK(spotPrices,1);
double prevD = getPrevD(spotPrices);

K D previ%K prev

if( (prevK < prevD) & (k > d) ) {
order_buysell = Order.BUY;

if( (prevK > prewD) & (k < d) ) {
order.buysell = Order.SELL;

prevhiD K
. previo K
prevah,

preaviil
previal

if(order.buysell == Order.BUY) {
if( pos > maxPosition ) {
order.buysell = Order.NONE;

return order;

}
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} else if ( order.buysell == Order.SELL ) {
if(pos < - maxPosition) {
order.buysell = Order.NONE;
return order;

if(order.buysell == Order.BUY) {
if( pos > maxPosition ) {
false

while (true) {
order._price = prevPrice + (int)(widthOfPrice *
random.nextGaussian() );
if ( order.price > 0 ) break;
}
order.quant = minQuant + random.nextint (maxQuant - minQuant + 1);
return order;

random.nextGaussian

widthOfPrice

public int getHighestPrice(int[] theArray, int theStartindex, int theEndIndex)

{
int highestPrice = 0;
for(int i = theStartindex; i <= theEndindex; i++) {
if (highestPrice < theArray[i]) {
highestPrice = theArray[i] ;
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return highestPrice;

the Array int
Array

public int getLowestPrice(int[] theArray, int theStartindex, int theEndIndex)

{
int lowestPrice = Integer.MAX_VALUE;

for(int i = theStartindex; i <= theEndindex; i++) {
if (lowestPrice > theArray[i]) {
lowestPrice = theArray[i] ;

return lowestPrice;

public double getK(int[] spotPrices, int t) {
int highestPrice = getHighestPrice(spotPrices, 46 - t, 59 - t);

int lowestPrice = getLowestPrice(spotPrices, 46 - t, 59 - t);

double k = (double)(spotPrices[59 - t] - [lowestPrice) 7/
(double)(highestPrice - lowestPrice);
return k;
}
K
— /( —
) K
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public double getD(int[] spotPrices) {
double kO = getK(spotPrices,0);
double k1 = getK(spotPrices,1);
double k2 = getK(spotPrices,2);
double d = (kO + k1 + k2) / 3;
return d;

prevD
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